Section 1

Test 12
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100 x 21 2100
14cm 4+ 15am + 16 am 45 ¢m
3x3x%3 27
280 + 25p + 45p = £ £ 098
£10-46 = TENS + 6p 104 TENS
%of?km: m 300 m
8am.tobom. = h 10 h
13kg — 600g = g 900 g
(5x7)+ {10 x 8 115
F0-200mi= mi! 550 m¢
(36 + 9) + (100 + 10) 14
ANSWER
Find the sum of 73 and 48. 121
Write 1560 mm as m and mm. m 560 mm
Find half of the sum of 12p and 18p. 15p
What is the product of 4, 5 and &7 120
How many eighths are there 56
in 7 whole ones? g
Find the cost of 24 articles at
60 each. £ 144
What is the remainder when
61 is divided by 97 7
How many years are there from
1984 to the year 20207 35
What number is 107 less than 1000? 399
100 cost £10-00. Find the
cost of one. 10p
Add the numbers between 20 and
35 which can be divided exactly
by 8. 56
Find the cost of 31: metres at 16p
per m. 56p
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Divide thesumof 7, 11,6 and 4 by 7.

4
How many 30-cm lengths can be cut
from a 3-metre length? 10
Find the cost of 2 ¢ 250 m?if
12costs £2. £ 450
- What must be added to 7 + 9 to
equal 7 x 97 47

300 pencils cost £18. Find the cost
of (a) 100 pencils (b) 10 pencils. (a) £ 6 (b) 60p

Through how many

right angles does a

boy turn when

turning from East

to West? * Z

Daniel goes to bed at 7.45 p.m
and getsup at 7.45 a.m.

How many hours is he in bed? 12 h
CHESS SET LIST PRICE £3-60
William bought the chess set at a
quarter less than the list price.
How much did he pay? £ 270
A Thua 7 . Lo
3150 em ine dxagramlsho‘/v;
E y two children’s heights.
=1 Fatima  pow much taller is
=140 cm Fatima than Amy
—= {a) incm (a) 17 cm
=130 L B
gac-—————-cm Amy (o) inmm? (b) 170 mm
f 120 cm
s
How many 200-m/ bottles can be
filled from a can hoiding 4 ¢7 20
What is half of 337 13
Thers are 2055 p@opae in avillage.
Write the number of people
{a) tothe nearest 10 () 2060
(b) tothe nearest 100 (b) 2100
(c) 1o the nearest 1000, (c) 2000

Next work Progress Test 1 on page 16.

Enter the result and the date on the ¢hart.



